Wire connection explanation
module       USB UART

3.3V   ＞＞  3.3V

GND   ＞＞  GND

IO1/TX    ＞＞  RX

UORX  ＞＞  TX

Attention: for fixed frequency radiation testing, pls soldering the fixed frequency radiation module on the device, and connect the TX/RX wire of UART with the PC fixed frequency. 

The wire connection is shown in below picture, pay attention to the TX, RX, which should be opposite.

2. The silkscreen of module UART 
TYWE1S  

Fixed frequency conduction wiring       adaptive wiring（TYWE1S is special，IO1 is TX）
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TYWE3L/TYWE3S
  EN connect with UART 3.3V    
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3. Testing mode firmware introduction
3.1 Frequency testing

Using espRFTool tool and selecting 8266 chipset platform. Clicking the port as below picture and inserting 115200 baud rate, to start the testing.
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1. Fixed frequency packet sending testing, insert 0 on the corresponding mode, speed, channel, bandwidth, default attenuation. (In the above red square box there is symbol and number, 0-255; 4*0.25 means maximum is 1dB, 8 means 2dB )
For example, testing 11B、20M、2412MHz channel, after selecting “start”, it will return the packets, pls refer to below picture.
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The lab can start testing the conduction and radiation testing, feel free to switch to other channels and mode.

2.2 Adaptive testing explanation

Using espRFTool tool and selecting 8266 chipset platform. Clicking the port as below picture and inserting 74880 baud rate, to start the testing.

Use wifi-Adaptivity to test, select the corresponding AP\STA mode to connect the router, then test the packet sending.
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STA mode
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